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Q1. Multiply out and simplify (x - 1)(2x + 3)

o FoE -2 =3
+x =3
Q2. Factorise 4x2 - y2
(2x +3 & =3 —3 3 Today we will be learning to complete the square.
1
Q3. Simplify fully _2¥*3  _ S Homework due.

2x* +x-3 _w—l) = x-|

Q4. Calculate the length of the minor Q

arc AC % *"b
Bl - i ton G

Please mark using online marking scheme.

Squaring out bracket

Before we learn to complete the square, we first need to practise
squaring out brackets.

Multiply out and simplify the following:

(x-1)? (x+3) (Ox + 4)? (5-x)2 (ax+5)2 = (ax"'sxa"'é)

2
2 _Qut| x4+ b+ Lw_‘-!-“\l"'ﬁ 5 -10x+x
x*-Qx: Uy + 0% +dD
(x-3%
-+ 49
('nmpleh’ng the ﬁqlmm (nmp]?fihd the ﬁr}lmhﬁ

Completing the square means writing a quadratic/trinomial expression

in the form (x + p)’+ 4 Given a trinomial with a unitary x* coefficient,e.q. x? + bx + ¢

m S
w ‘t" AganS l in H * x
Wr[t[ng itin J(}'HS orm is USEFU[ or Wheﬂ we are WOI’[(fng W[t]’) parabo[as /\

2 12
or solving quadratic equations. 6! + La.lb =¥ +cC

2 4 bx + Tb-gh" 4<
x2bx +C
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Daily Practice 83314

Q1. Multiply out and simplify (2x - 1)
o = b +|

Q2. Factolrlse x>~ 7x+12

G —(x-3)

Q3. Ca[cu[ate the area of 3 quarter circle with radius 5cm
ﬁ— 'q"xf"l #wﬁ -lq 30'\

Q4. Calculate the capacity of a cylinder with diameter of base 20cm

and height 48cm

V="h
v= 'Txldx'{'g

GT"AU 15.08 L (3d-p)

('nm[nlph'ng the Qr}uzhﬁ

Examples: Write these expressions in the form (x + p)>+ q

1) x2+ 6bx + 10 2)x*-2x+3
(43} + 1 G-l +3
(x43) -3+ 10
X-Ixsl +2
(x#SY’-G ' xg_zx_._g
3) x2 - 14x + 10 (8 x*_i1gx +3
(> ﬁ?‘m (-1 -8
v
X -l +43 -39
-l +10

('omp|eﬁhq the Square

Write the following quadratics in the form (x + a}2 +b
2
(a) P iaxs3 = (x+2) -1 \‘L-;,’_.-E
)32 +81-13 = (Gexld] 1‘1 ‘ Dot
= +\\\‘ %s

() .x +6x+5¢= (X'FST—
L -
(d).x —4x+5 s(l-?_\'ﬁ‘ G)* *3-; :.‘

(&) x —8x+9—(x_ln -3 ())x “x+2
®x%—2c-5 . (x_‘\l (x_t‘_@i; &2
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Today we will be continuing to learn how to complete
the square.

Survey Password: Calculator

('nmplm‘inq the Square

Write the following quadratics in the form (x + a)2 +b

(a).x2+4x+3 (3) xt-1x -\%
2

(b)x2+8x—13 (l\')z"*-ﬂ*-‘i

(c)x” +6x+5 14ed s

(d)x2—4x+5 q)x Fox=
2— .

(&) x"—8x+9 (')) )L"'—\\x‘rl

x2—2x—5

(B we-locms4 O K-aokez (W) y2_i50475
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Completing the square when the coefficient of x? is -1

¥ Fish fodose by teicg oot -
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@ —x*+bx-S
—1(t=6x +)

A,
(G344

RS (<) —x‘—l&z—?

(B —x*-Bx+ L
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